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Pyramid of numbers java

Sel juhendaja, me dicuss püramiidi number muster Java kasutades silmus Pyramid Pattern 1 Pyramid muster 1 Program import java.util.Scanner; avalik klass Pyramid_pattern1{ avalik staatiline tühine peamine(String args[]){ Skanner sc = uus Skanner (System.in); //Scanner klassi java System.out.print (Sisestage soovitud read:); int rows
=sc.nextInt(); System.out.println (); jaoks (int i=1; i &lt;=rows; i++){//outer= forloop= for= (int= j=1;&gt;&lt;/=rows;&gt; &lt;=(rows-i)*2; j++){= system.out.print(= );//create= initial= space= for= pyramid= shape= }= for= (int= k=i; k=&gt;=1; k--){//inner silmuste jaoks System.out.print(+k);//luua vasak pool } jaoks (int l=2; l &lt;=i; l++){=
system.out.print(= +l);= create= right= half= }//end= outer= for= loop= system.out.println();= }= }= }= when= the= above= code= is= executed,= it= produces= the= following= results:= option= 1= enter= the= rows= you= want:= 5= 1= 2= 1= 2= 3= 2= 1= 2= 3= 4= 3= 2= 1= 2= 3= 4= 5= 4= 3= 2= 1= 2= 3= 4= 5= option= 2= enter= the= rows=
you= want:= 9= 1= 2= 1= 2= 3= 2= 1= 2= 3= 4= 3= 2= 1= 2= 3= 4= 5= 4= 3= 2= 1= 2= 3= 4= 5= 6= 5= 4= 3= 2= 1= 2= 3= 4= 5= 6= 7= 6= 5= 4= 3= 2= 1= 2= 3= 4= 5= 6= 7= 8= 7= 6= 5= 4= 3= 2= 1= 2= 3= 4= 5= 6= 7= 8= 9= 8= 7= 6= 5= 4= 3= 2= 1= 2= 3= 4= 5= 6= 7= 8= 9= pyramid= pattern= 2= pyramid= pattern= 2= program=
import= java.util.scanner;= public= class= pyramid_pattern2{= public= static= void= main(string= args[]){= scanner= sc=new scanner(system.in);= scanner= class= in= java= system.out.print(enter= the= rows= you= want:= );= int= rows=sc.nextInt();//get input= from= user= system.out.println();= for(int= i=1;&gt;&lt;/=i;&gt; &lt;=rows; i++){=
for(int= j=0;&gt;&lt;/=rows;&gt; &lt;rows-i; j++){//create initial space for pyramid shape= system.out.print(= );= }= for(int= k=1;&gt;&lt;/rows-i;&gt; &lt;i; k++){= system.out.print(k);//create= right= half = }= for(int= l=i; l=&gt;=1; l--){ System.out.print(l);//create left half } System.out.print (); } } Kui ülaltoodud kood täidetakse, annab see järgmised
tulemused: Variant 1 Sisestage soovitud read:5 1 1 2 1 1 2 3 2 1 1 2 3 3 2 1 2 1 2 3 4 5 4 3 2 1 Võimalus 2 Sisestage soovitud read: 9 1 1 2 1 1 2 3 2 1 2 3 4 3 2 1 1 2 3 4 5 4 3 2 1 1 2 3 4 5 6 5 4 3 2 1 1 2 3 4 5 6 7 6 5 4 3 2 1 2 3 4 5 6 7 8 7 6 5 4 3 2 1 1 2 3 4 5 6 7 8 9 8 7 6 5 4 3 2 1 Püramiidmuster 3 Püramiidmuster 3 Programmi import
java.util.Scanner; avalik klass Pyramid_pattern3{ avalik staatiline tühine peamine(String args[]){ Skanner sc=new Scanner(System.in); //Scanner klassi java System.out.print (Sisestage soovitud read); int rows =sc.nextInt(); System.out.println (); jaoks(int i=1; &lt;=rows; i++){= for(int= j=0;&gt;&lt;/=rows;&gt; &lt;rows-i; j++){=
system.out.print(= );= }= for(int= k=1;&gt;&lt;/rows-i;&gt; &lt;=i; k++){ System.out.print(k+ ); } System.out.print(); } } } When the above code is executed, it produces the following results: Option 1 1 2 1 2 3 1 2 3 4 1 2 3 4 5 Option 2 1 1 2 1 2 3 1 2 3 4 1 2 3 4 5 1 2 3 4 5 6 1 2 3 4 5 6 7 1 2 3 4 5 6 7 8 1 2 3 4 5 6 7 8 9 Pyramid Pattern 4
Pyramid pattern 4 Program import java.util.Scanner; public class Pyramid_pattern4{ public static void main(String args[]){ Scanner sc=new Scanner(System.in); //Scanner class in k++){= system.out.print(k+= );= }= system.out.print();= }= }= }= when= the= above= code= is= executed,= it= produces= the= following= results:= option= 1= 1=
1= 2= 1= 2= 3= 1= 2= 3= 4= 1= 2= 3= 4= 5= option= 2= 1= 1= 2= 1= 2= 3= 1= 2= 3= 4= 1= 2= 3= 4= 5= 1= 2= 3= 4= 5= 6= 1= 2= 3= 4= 5= 6= 7= 1= 2= 3= 4= 5= 6= 7= 8= 1= 2= 3= 4= 5= 6= 7= 8= 9= pyramid= pattern= 4= pyramid= pattern= 4= program= import= java.util.scanner;= public= class= pyramid_pattern4{= public= static=
void= main(string= args[]){= scanner= sc=new scanner(system.in);= scanner= class= in=&gt;&lt;/=i; k++){ System.out.print(k+ ); } System.out.print(); } } } When the above code is executed, it produces the following results: Option 1 1 1 2 1 2 3 1 2 3 4 1 2 3 4 5 Option 2 1 1 2 1 2 3 1 2 3 4 1 2 3 4 5 1 2 3 4 5 6 1 2 3 4 5 6 7 1 2 3 4 5 6 7 8 1 2
3 4 5 6 7 8 9 Pyramid Pattern 4 Pyramid pattern 4 Program import java.util.Scanner; public class Pyramid_pattern4{ public static void main(String args[]){ Scanner sc=new Scanner(System.in); //Scanner class in &gt; i&lt;/i;&gt; &lt;/=(rows-i)*2;&gt; &lt;/=(rows-i)*2;&gt; System.out.print; int rows =sc.nextInt(); System.out.println (); (int i=1;
i&lt;=lines; i++){ (int j=1; j&lt;= lines; j++){System.out.print(); lines... (int k=1; k&lt;=i; k++){System.out.print(i+ ); } System.out.println (); } } } } When the above code is triggered, it will produce the following results: 1 2 2 3 3 3 4 4 4 4 5 5 5 5 5 5 Public Class Pyramid_pattern5{ Public Static Void Parent(String args[]) { Scanner sc = new Scanner
(System.in); /Scanner/class java System.out.print; System.out.println ( ); int i,j,k,l=1; for(i=1; i&lt; = lines; i++ ){ for(j=1; j&lt;= rows-i; j++){System.out.print(;); } for(k=1; k&lt;=i; k++,l++){System.out.print(l+ ); } System.out.println (); } } } } If the above code is executed, it will give the following results: 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
19 2 0 21 22 23 24 26 27 28 29 30 31 32 33 34 35 36 Pyramid Pattern 6 Floyd number pattern Program import java.util.Scanner; public class Pyramid_pattern6{ public static void parent(String args[]) { Scanner sc = new Scanner (System.in); //Scanner class java System.out.print;int rows = sc.Int nextInt();//taking rows user
System.out.println(; System.out.print(Here's your pattern); int count=1; reset the number to 1 int i,j;//variable with a declaration(i=read; i&gt;=1; i--- ){//external loop(parent) for (j=1; j&lt; = i * 2; j++){ System.out.print(;/create space at the beginning of each line }/internal loop 1 (child) for(j= j;j&lt; = lines; j++){/print on the right side of the Piramid
System.out.print(j+ ); } internal loop 2 (j=read-1; j&gt;=i; j--){ System.out.print(j+ ); type piramid left part 3. count++;//count increse with 1 } } } } When the above code is triggered, it will give the following results: Enter the desired lines Here in your pattern 9 8 8 7 8 9 8 7 7 7 7 7 8 9 7 6 5 6 7 8 8 7 6 5 5 6 7 8 9 8 7 6 5 4 4 4 4 4 6 6 5 4 4 3 2 3
4 5 6 7 8 8 8 7 6 5 4 4 3 2 1 2 3 4 5 6 7 8 8 8 7 8 7 6 7 4 4 3 2 1 2 3 4 5 6 7 8 8 8 8 7 6 5 4 4 3 2 1 2 3 4 5 6 6 7 6 7 8 8 8 7 6 4 4 3 2 1 2 3 4 5 6 7 8 8 8 8 7 6 4 4 3 2 1 2 3 4 5 6 7 8 8 8 8 7 8 7 4 4 4 3 2 1 2 3 4 5 6 7 8 8 8 8 7 8 7 4 4 4 3 2 1 2 3 4 5 6 7 8 8 8 8 5 4 2 1 Recommending C++ language loops for loop in Java language Loop
Python language, nested loops for Java language nested in c++ language, nested loops for C-language, nested looped into the Python language for Floyd's triangle number pattern, using loops in the C Floyd triangle pattern using a nested loop of Java Floyd triangle pattern using nested same loop Java This is one of the most frequently
interviewed interviews for newcomers. This question tests the candidate's logical ability and basic understanding of the Java language. They may ask you to create pyramid numbers with a different pattern as below screenshot shown. In this post we try to write java programs to create in all different patterns. Pattern 1: Write java program
to create pyramid numbers such as Pattern1 above image? Take input from the user and assign it to noOfRows. That's the number of lines he wants in the pyramid. Define one variable named rowCount and reset it to 1. This keeps the value of the current reainding. At the beginning of each line, we print i spaces where i is the value from
noOfRows to 1. At the end of each line, we print the rowCount value for rowCount times. i.e. in the first row, the first line shall be printed once on 1 January 2007. In the second row, 2 is printed twice and so on. Below is the java code that applies this logic. import java.util.Scanner; public class MainClass { public static void main (String []
args) { Scanner sc = new scanner (System.in); //Taking noOfRows value for user System.out.println(How many lines do you want your pyramid?); int noOfRows = sc.nextInt(); //Initializing rowCount with 1 int rowCount = 1; System.out.println (Here's your pyramid); Apply logic (int i = noOfRows; i &gt; 0; i---) { //Printing spaces at the
beginning of each line (int j = 1; j &lt; = i; j++) { System.out.print(;) } rowCount time at the end of each row (int j = 1; j &lt; = rowCount; j++) System.out.print (rowCount + } ); System.out.println (); Increase rowCount rowCount ++; } } } } Output: How many lines do you want in your pyramid? 9 Here is your pyramid 1 2 2 3 3 3 4 4 4 4 5 5 5 5 6
6 6 6 6 6 6 7 7 7 7 7 8 8 8 8 8 8 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 to print the rowCount value rowCount times at the end of each line, we print j where j is 1 to rowCount. import java.util.Scanner; public class MainClass { public static void main (String [] args) { Scanner sc = new scanner (System.in); //Taking
noOfRows value for user System.out.println(How many lines do you want your pyramid?); int noOfRows = sc.nextInt(); //Initializing rowCount with 1 int rowCount = 1; System.out.println (Here's your pyramid); Apply logic (int i = noOfRows; i &gt; 0; i---) { //Printing spaces at the beginning of each line (int j = 1; j &lt; = i; j++) {
System.out.print(;) } Print j value at the end of each line (int j = 1; j &lt; = rowCount; j++) { System.out.print(j+ ); } System.out.println (); Increase rowCount rowCount ++; } } } } Output: How many lines do you want in your pyramid? 9 Here is your pyramid 1 1 2 1 2 3 1 2 3 4 1 2 3 4 5 1 2 3 4 5 5 6 1 2 3 4 5 6 7 1 2 3 4 5 6 7 8 1 2 3 4 5 6 7 8 9
Pattern 3 : Write a java program to create a pyramid of igiana stars (*) as muster3 above image? The same logic is used here. However, instead of printing the rowCount or j value at the end each line, we print the letter (*). import java.util.Scanner; public class MainClass { public static void main (String [] args) { Scanner sc = new scanner
(System.in); //Taking noOfRows value for user System.out.println(How many lines do you want your pyramid?); int noOfRows = sc.nextInt(); //Initializing rowCount with 1 int rowCount = 1; System.out.println (Here's your pyramid); Apply logic (int i = noOfRows; i &gt; 0; i---) { //Printing spaces at the beginning of each line (int j = 1; j &lt; = i;
j++) { System.out.print(;) } Printing * at the end of each line (int j = 1; j &lt; = rowCount; j++) { System.out.print(* ); } System.out.println (); Increase rowCount rowCount ++; } } } } Output: How many lines do you want in your pyramid? 9 Here is your pyramid * Pattern 4 : A writer's program to print the numbers in the pyramid, as in the above
image pattern4? In this problem, we print i* 2 spaces at the beginning of each line, not just i spaces. At the end of each line, we print j with a j value between 1 and rowCount and rowCount-1 to 1. import java.util.Scanner; public class MainClass { public static void main (String [] args) { Scanner sc = new scanner (System.in); //Taking
noOfRows value for user System.out.println(How many lines do you want your pyramid?); int noOfRows = sc.nextInt(); //Initializing rowCount with 1 int rowCount = 1; System.out.println (Here's your pyramid); Apply logic (int i = noOfRows; i &gt; 0; i---) { //Printing i*2 spaces at the beginning of each row (int j = 1; j &lt; = i*2; j++) {
System.out.print(; Print the J value with j value 1 to rowCount for (int j = 1; j &lt; = rowCount; j++) { System.out.print(j+); Print the J value with j value rowCount-1 to 1 (int j = rowCount-1; j &gt; = 1; j--) { System.out.print(j+ ); } System.out.println (); Increase rowCount rowCount ++; } } } } Output: How many lines do you want in your pyramid?
9 Here is your pyramid 1 1 2 1 2 3 2 1 1 2 3 4 3 2 1 1 2 3 4 4 4 4 3 2 1 2 3 4 4 5 6 5 4 3 2 1 1 2 3 4 5 6 7 6 5 5 0 4 3 2 1 1 1 2 3 4 5 6 7 7 8 7 6 5 4 3 2 1 1 2 3 4 5 6 7 8 8 7 6 5 4 3 2 1 Muster 5 : Write a Java program that cancels the pyramid numbers printing, like in a pattern? In this issue, we will suck the outer loop in reverse order i.e. 1
noOfRows and reset the rowCount to noOfRows. import java.util.Scanner; public class MainClass { public static void main (String [] args) { Scanner sc = new scanner (System.in); //Taking noOfRows value for user System.out.println(How many lines do you want your pyramid?); int noOfRows = sc.nextInt(); //initializing rowCount with
noOfsRowt in rowCount = noRows; System.out.println (Here's your pyramid); Applying logic (int i = 0; &lt; noOfRows; i++) { //Printing i*2 spaces at the beginning of each row (int j = 1; j &lt; = i*2; j++) { System.out.print(;); } J printing with j value 1 to rowCount for (int j = 1; j &lt; = rowCount; j++) { System.out.print(j+ ); } J printing with j value
rowCount-1 to 1 (int j = rowCount-1; j &gt; = 1; j--) { System.out.print(j+ ); } System.out.println (); RowCount rowCount--; } } } } Output: How many lines do you want in your pyramid? 9 Here is your pyramid 1 2 3 4 5 6 7 8 9 8 7 6 5 4 3 2 1 1 2 3 4 5 6 7 8 5 4 3 2 1 1 2 3 4 5 6 7 5 5 0 4 3 2 1 1 2 4 5 6 5 4 4 3 2 1 1 2 3 4 5 4 3 2 1 2 3 4 3 2 1 1 2
2 1 1 1 1 1 Pattern 6 : How to create a pyramid of numbers as shown in the pattern above? At the end of this issue, we print j where j is the value i to noOfRows and noOfRows-1 i. import java.util.Scanner; public class MainClass { public static void main (String [] args) { Scanner sc = new scanner (System.in); //Taking noOfRows value for
user System.out.println(How many lines do you want your pyramid?); int noOfRows = sc.nextInt(); //Initializing rowCount with 1 int rowCount = 1; System.out.println (Here's your pyramid); Apply logic (int i = noOfRows; i &gt; = 1; i---) { //Printing i*2 spaces at the beginning of each row (int j = 1; j &lt; = i*2; j++) { System.out.print(; } Printing j
where j is i to noOfRows (int j = i; j &lt; = noOfRows; j++) { System.out.print(j+); Printing j where j is for noOfRows-1 to i (int j = noOfRows-1; j &gt; = i; j--) { System.out.print(j+ ); System.out.println (); Increase rowCount rowCount ++; } } } } Output: How many lines do you want in your pyramid? 9 Here is your pyramid 9 8 9 8 7 8 7 6 7 8 9 8 7
6 5 6 7 8 8 8 7 6 6 7 8 8 9 8 8 6 5 6 6 7 8 9 9 8 9 8 8 8 8 8 8 8 7 6 5 6 7 8 8 9 8 9 8 8 87 6 5 4 5 6 5 6 5 4 3 2 3 4 4 4 5 6 8 8 7 6 5 4 3 2 1 2 3 4 5 6 7 8 8 8 8 7 8 7 8 7 6
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